
9

7

Hydraulic Swing Arm Wall TV Bracket

INSTALLATION MANUAL

6 8

P-SWB442S-1 55" 
MAX

75x75/100x100
200x100/200x200
300x300/400x200
400x300/400x400

180°
+5°

-15°

H

G

5~30kg
(11~66lbs)

RATED

21

180°

180°

H

F

There is a risk of injury when mounting monitors/televisions heavier than the suggested weight.



4b

TVTV

TV

4a

1 3

2b

2a
4

W-A (x5) W-B (x5) W-C (x4)

6mm (x1)
      G

H (x1)
A (x1) E (x8)C (x )2 D (x )2

E

300mm

400mm

4
0
0
m

m
3
0
0
m

m

4a VESA 300x300, 400x400 

400mm

2
0
0
m

m

4b VESA 400x200

E

B (x1)

X

400mm

3
0

0
m

m

4c VESA 400x300

E

W-A
W-C

W-B

6mm

4mm (x1)
      F

6mm

W-A

W-A

60mm

2.4"( )

60mm

(2.4")

ø 10mm
(ø 3 /8")  

ø 4.5mm
(ø 3/16") 

55mm

2.2”( )

55mm

(2.2”)

21

X X√

1 32

X X√

M-D
M-C

M-H

M-G

M-E

M-I

M-G

M-E

M-H

M-G

M-I

M-E

M-H

M-G

M-I

M-D
M-C

M-I

M-G

M-H

M-D
M-C

M-I

M-G

M-B
M-A

M-F
M-G

D8 (x4)
M-G

 D5 (x4)
M-F
 

M5x14 
M-A

(x4) M6x14 
M-B

(x4) M6x30 
M-C

(x4)

M-I (x8) 

M8x30 
M-D

(x4) M8x50 
M-E

(x4)

M-H (x8) 

W-A
W-C


